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In problems we can always expect normal 
principles to be contradicted with moves 
intentionally giving away pieces or making 
seemingly meaningless moves.  Today’s 
problem seems to contradict the most 
important principle of all, more important 
than say not losing your queen.  Decide 
what that principle is and you will be able 
to solve the problem. White to play and

mate in two (van Gool 1977):
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WA Grand Prix

At the final event of 2009, the highly successful Teams Lightning Championship, prizes were awarded for successful performers in both Open Grand Prix competitions and Junior GP.  Open winner was Dennis Holland with Yita Choong runner-up and third place shared between Akef Abdat and Tom Donaldson.  Dennis was also first in the Major section followed by Akef and Dave Dempster.  Gary Dempster won the Minor Division with Bernard Laugery second and Grant Bultman third.  Yita Choong won the Junior prize with George Carolin-Unkovich runner-up.  While the five events were well supported by many of the state’s leading players the level of junior participation was well down.  However this may well be due to the popularity of the Junior GP events, usually held a week before or after the main tournaments.  Here is a game from the final event of the year:

  ALBERT  CHIN   -   TIM  HARE


          Christmas Open, Rd 2


            Caro-Kann Defence

1.Nc3 
g6  

2.d4 

c6


3.e4 

d5  

4.Be3 
Bg7


5.exd(a) 
cxd  

6.Qd2 
a6


7.Nf3 
Nc6  

8.Be2 
Bf5


9.0-0 

h5  

10.Na4(b) 
Nf6


11.Nc5 
Ne4  

12.Qc1 
Nxc5


13.dxc5 
d4  

14.Rd1(c) 
e5

15.c3 
d3  

16.Ne1 
e4


17.f3 

dxe2!(d)  
18.Rxd8+ 
Rxd8


19.fxe
Bxe4(e) 
20.b4 
Rd1


21.Qb2 
0-0 

22.Kf2 
Ne5(f) 

23.Kxe2 
Nc4 

24.Qb3 
Rxa1


25.Qxc4 
Re8(g) 
26.Kf2 
Bc6

27.Nf3(h) 
Bb5 

28.Qb3 
Rf1+


29.Kg3 
Rxe3  
White resigns

a) Rather than simplifying 5.e5 gives White more attacking chances.

b) White’s plan of placing a knight on c5 will give Black a dangerous preponderance of centre pawns. 
c) White hopes this pin will ensure the destruction of Black’s pawn centre.  
d) This fine positional sacrifice is the only way to justify Black’s bold play.
e) Not 19…Rd1? 20.exf5 winning.
f) Threat 23…Rxe1! 24.K/Rxe1 Nd3+.
g) Threat 26…Bh6! 27.Bxh6 Bd5+.
h) 27.Nc2 is better but will still lose – eg  27…Bb5 28.Qb3  Rf1+ 29.Kg3 Be5+ 30.Kh4 Bf6+ 31.Kg3 (31.Bg5 loses to 31…Rf4+) 31..h4+ 32 Kh3 Bd7+ 33.g4 Rf3+ 34.Kg2 Rexe3 wins.
SOLUTION:  The first principle of chess must surely be to ensure the safety of your own king.  Here White’s king cannot be attacked but the initial move, 1.Kxc4, intentionally exposes the king to a possible 13 checks. Can you find them?  1…Qf7+ 2.Nxf7#: 1…Qe6+ 2.Rxe6#: 1…Qc6+ 2.Nxc6#: 1…Qb5+ 2.Rxb5#: 1…Nd6+ 2.Qxd6#: 1…Nb6+ 2.Rbxb6#: 1…Rg4+ 2.Nxg4#: 1…Rc5+ 2.Qxc5#: 1…Rxa4+ 2.Rb4#: 1…Be2+ 2.Rxe2#: 1…Bb3+ 2.Rxb3#: 1…Nxe3+ 2.Qxe3#: 1…Nd2+ 2.Rxd2#

